EARAZROREIERT — 2 N—XBISY —F 201655870 (£) 2EIEN5H

m TJ7A4FIVL—X C3 H¥5%—#% ‘ [Xiz] % ‘ [REmshE — | & (&) 13000 2
[AE4£] 1% :140,000 ™ ~ 23#%:35,000M” ~ 33%&:18,000 M . 43&:10,000 M 53 :7,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o e KFEAE 126. -1-1- . — Arhfh— (FH)
1 gl A K= i 4 k= 1(2_6)0 1-1-1-1 | 40.5 1 :637) iy
Z:Nd B:7772R—b BRES 4%
e 7 | £EFE 1:26.0 4-4-6-3 | 40.0| — 3 438 | BBXEH (&)
20719 T74T7EL YV 54.0 (NF) ) :ﬂi%i‘é—ﬁﬂ
LA T74T7 B:wLPzM17 1— NETHS
N . B [ 4 2505 : 54— - FFRA ()
algliol F—ri—yT— K o4 e 1.(236).6 5-5-4-5 | 40.7 10 <4+936) B
Lihxexy BN TUO-F AR Hi
= S B4 | AAMD 1:26.7 5-6-4-4 | 40.7| — 8 408 | BTfR— (SH0)
4/5|5 TT14HRX—=I 54.0 (7€) +3) (B) x=2457
L2 w4 =Y B:TFovhOr RIS
# 5 | EIUKE 1:26.7 10-12-12-9 | 39.5 | — 6 458 | RESHR (BH)
56y 7 AIFA—Ib 56.0 = (2 E) (+6) () k=247
L:ZZXHT 1=y IR B:y—OriN— 4 IE
T £y 4 | SHEA 1:26.8 9-10-8-6 | 40.3| — 12 | 453 |BIRFRE (FH)
N : FIEEFANE e “ 7 6.0 (78 o |FemEe
L:Yrh—> BEI RIS
. = st 4 | SEBSRI 1:26.8 12-11-11-7 | 39.9 | — 4 443 | BIFFER] (B
7 1 '7{/717_ 56.0 (NF) (-6) (B) #—p-T—-2X
L:O—Y XA x4 B:y—4-0-X HAYKIS
® . aalizpei) : -9-10- = THEET (FH)
s o NvE-RU—L i 3 it 1.(237).4 11-9-10-10 | 40.5 7 ;1:)27) s
RihNZ— BT FRIE AR EER
> . B4 | MERIE 1:27.5 8-8-9-12 | 40.8| — 9 483 | BIRFRE] (FH)
N 4 g NFL—2a = A52.0 (1/2) (+4) BRI —BB
LN=V754 B:T7z7)—-U14—-> TDAS
= So5 i 5 | FEEX 1:27.7 2-3-3-7 | 41.9| — 2 427 | HTBBRE (FH)
10/7]10| 7A +¥Y a7 54.0 (3/4) G | FoRER
L:7RYf ¥ L—> B:RY—LT—72R [ia=Ese]
A . 5 | BIE 1:27.8 7-7-7-11 | 41.4| — 11 445 | IEEHEF (BH)
111811 A=D2TFxvwy b 54.0 (1/2) (+9) (R) J P N#H#
LT HINEry N BiAHRT J—HrTr—L
B P E—— e 2] - Mt (EH)
12151 6 7ROAL T — K Ea s 1(/72{:? 3-2-2-2 | 42.2 5 (4_412) et
R:ZAN—3I2FFR—L B:T7FRON-T1Th IR AR 5
@ 1—F—@&BIEf
13=zr= 8,10,6,9,(5,12),11,4,3,7,2,1
Aol=5r= 8,6,10,9,12,5,11,4,2,3,1,7
G§a=7r= 8,6,10,(5,12),9,11,3,4,2,1,7
43—+ — 8,6,9,5,12,3,(1,10),7,2,11,4
[ RN
B OB 8 300 714K 8-9 500M e & 6-7 410 &R 8-9-12 7,370
8 B 8 120/ 8-12 810 B E 8-9 1,480 JEH 8-9-12 25,080
9 230H 9-12 3,290 B H 8-9 1,710
12 540M

ABICOVWTRDTEEERROODE. TR LIV,



